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2017
LOGIC AND PHILOSOPHY

Full Marks : 100

Pass Marks : 30

Time : Three hours

The figures in the margin indicate full marks
Jor the questions, ‘

Q. No. 1 carries 1 mark each 1x12= 12
Q- No. 2-13 carries 2 marks each ' 2x12 =24
O. No. 14-23 car;"ies 4 marks each 4x10=40
Q. No. 24— 27 carries 6 marks each 6x4 =24

Total=100
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1. Give very short answer : L 1x12=12
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(@)

(b)
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(d)
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What is the essence of induction proper 2

L ST 5 sl e

Is perfect induction an induction proper ?

91l Sfiore T2l wneE w20 2

What is the ground of Analogy ?

“A cause is the sum-total of conditions positive and

negative taken together” — who said the statement ?

I (2R T WS Afogel AN SoRmRes DT | SRS I
e 2 ‘



(e) “The law of causation is the material ground of

induction” — is it true ?

Pl [ T2re Seee et e —semE S5t o o
()  What is Vera Causa’?

QT DR T @i 2

(g) What is the meaning of the Latin word ‘Mores’?

o9 ¥R ‘Mores’ =761 B = 2

(h) Who is the founder of Scientific realism ?

(TR AFNIE 2O (T 2
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() “Observation is finding a fact and experiment is making

one” — Who said this ?

P Carr O SR S S tare € HB” — AT
(BT C=piweT 2

() How many purusarthas are there ?

AT (T APRF ¢

(k) Is ethics a positive science ?

() From which Sanskrit root the word ‘Dharma’ is derived ?

G =Gl [ kg «ed A4l T taes 2
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2. Define scientific induction ? : : : 2

TR S T3] o |

3. Explain very briefly why the conclusion of unscientific

induction is probable. 2

sl SiseT Prale B RS @ Sfo BN i 4 |

4. Why observation and experiment are called the material

grounds of induction ? : 2

AT B WS T el Sl aeie fofe 9f ool = e

N

5. State two advantages of simple observation.

Fel e 7hr Rl Um0
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What do you mean by ‘Paradox of Induction’?

el [ e & ge 2

6. Mention two features of scientific realism.

iR AT 45 e S 4|

7. Define primary qualities with eéxamples.

T4y @eF TR B S f |

8. What is the meaning of ‘esse est percipii’ ?

RS ¢ AT (el sAEs 9L & 2
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9. Name the form of idealism with which dialectical method is
associated. State the name of the philosopher who advocated

this method. 2

2N A ied F9re Gibw S A4 [g 915 5= | 93 “mfont coaae
3<) vl G T R

10. State two features of objective idealism. 2

TGS SRS 70 (A TrER 9|

11. Why is hdbitual action considered as an object of moral

judgement ? : ‘ 2

spejiaide (@i tIfos sraRas xriag gfet 6 oo <1 = 2

12. State the second canon of elimination. Name the
experimental method which is based on this canon of

elimination. : : 1+1=2

i
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State one 'advante;ge of the method of Agreement. Why is this

method called the method of discovery ?

S S9NET 957 SR Tz < | G2 YT R R s 1 =
=T 2

13. State two points of difference between inductive and

deductive inference. ‘ : v 2

ST SIS oG Soiem Sisrs <) 701 119 Sraet <41 |

14. Explain the meaning of ‘Varnasrama dharma’. : 4

effelsy s el <t < |
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- 15. State Flint’s definition of religion. 4

&l A Zres Rl SRl S w1
Or / «z9
Mention any four characteristics of religion. 4

9 [P o167 taRiey T 59|

16. Mention two practical imperfections of the method of

Agreement. 4

S| Amed 75 IRARE ol TR 9|

17. State two points of similarity between religion and morality.

2+2=4
g3 = STOR 7o) APy Trad 4|

27T LOPH [9] Contd.




Or / 724l

State four points about the nature of hypothesis.

ofee oFe AIE b0 R T 4 |

" 18. Distinguish between good analogy and bad analogy. 4

SRR SIS SAIRERS [ero s (el
Or / 7241

Distinguish between cause and condition.

iR T GoRES oo Al (el |

e State along with brief explanations about the four conditions

~of a legitimate hypothesis. 4

53 Il A2 @Bl CRK 2T YIS b S |
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20. Write short note on the fallacy of post hoc ergo propter hoc.

4

SRR GIF THEE <51 5 Gl = |

21. Name the theory W}ﬁCh' states that external world can be
known directly as it really is. Also, define this theory and

state one important drawback of this theory. 1+2+1=4

QRS Gols AT 2O Tl Ay S SR #9] A el SrEd T Ol
% fo72ll | #1970 B OB LS S9RpIE 3 @6l wwgsle seyfRdl S

<4l

22. Write short note on “conflict of desires”. 4

“JIR FAAIG A G61 HYCBIp! Tl |
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What is voluntary action ? State the three stages of voluntary

action, ' : 1+3=4

afvez @l e @i 2 Ofves o o9 /o S < |

Define Berkeley’s Subjective Idealism. Is Berkeley a solipsist ?

2+2=4

aﬁ%ﬁﬁvm@ﬁﬁi@W?W@ﬂﬂﬁ%Tﬁhﬂ|aﬁﬁ%'a@ﬁI@mﬁmﬁTwwﬁﬁﬁzgma?

Define unscientific induction with example. State why it is
called ‘Unscientific’? Mention briefly three characteristics of

unscientific induction. 2+1+3=6

TR 7 SIS Sieee vikes SisEeeEl | @3 s S
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Define Analogy with example. Explain the characteristics of

Analogy. : 2+4=6

Twizge >z IPUETE Siqi o1kes) 11t | 3Ry RORIES R e e
S '

25. Define cause after Carveth Read and explain briefly the

qualitative marks of a cause. 2+4=6

PIECS T SR SR R sie Fal | paes YIS AT B0
IR} <=7 |
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What is experiment ? What are the advantages of experiment

over observation ? . 2+4=6
A 5 ¢ [T s A R B
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Define hypothesis with ~a scientific example. Explain
hypothesis concerning law and hypothesis concerning
collocation. . . fasliield =6

.
T
{1
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What are the different kinds of hypothesis according to

Stebbing ? Explain each of them with example. 2+4=6

(Bl e RSy oolRT evEs & & 2 Swiese Wz AreE i
STSRCIE |

State Mill’'s Canon of the method of Differencei Describe
briefly four disadvantages or defects of this method.

. D+4=6
IS AeffeTt F=5ic o 77a Terd T | ot 2elietia s1/<57 wrifRa]
B3 el 541 | '
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Explain the method of Residues with example. Do you think

it to> be an improvement upon the method  of Difference ?

Explain. 2+4=6
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